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Crime and regional growth in Italy 
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��� :�������� "�	��������� ������ /@����� 3:"�/8� ���������	� ���� ��	��� ������ -��� A�/� ����������
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�������	��:)������	���������	������	��������	�����������������:)���������	�	����1���	�6����3$''&8��
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�	�� 
���������,�� ������� ���B��������� ����� ���	�����	���� �������� ��� ���� �������	��� ��� ����	�����
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2.� Data and preliminary analysis 
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Figure 1. Descriptive statistics�
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3.1.�Estimation framework 
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Table 1. Standard MG estimations and CD test
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4.1.�Panel Granger causality tests 
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Table 4. Panel Granger Causality Tests 
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4.2.�Extended model results 
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Table 5. CCEMG and AMG extended model estimations: Specifications with 
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Table 6. CCEMG and AMG extended model estimations: Specifications with �	
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5.� Discussion of the results 
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Figure 2. PLOSS by region: Models with CRit, ζ = 30.001�
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Table A1. ADF unit root tests on �	
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Table A2. CCEMG and AMG extended model estimations: Specifications with 
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Table A3. CCEMG and AMG extended model estimations: Specifications with �	
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Table A4. PLOSS by region: Models with CRit, ζ = 30.001�
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